4.6.2.2.
Adjacent Channel Leakage power Ratio (ACLR)

4.6.2.2.1.
Definition and applicability

Adjacent Channel Leakage power Ratio (ACLR) is the ratio of the transmitted power to the power measured after a receive filter in the adjacent channels(s). Both the transmitted power and the received power are measured with a filter response that has a Root-Raised Cosine (RRC) filter response with roll-off ( = 0.22 and a bandwidth equal to the chip rate.

The requirements in this subclause shall apply to all types of UTRA-UE. 

4.6.2.2.2.
Conformance requirements

The ACLR shall be better than the value specified in Table 4.6.2.2.2..

Table 4.6.2.2.2. :UE ACLR

Power Class
UE channel
ACLR limit

3
± 5 MHz
-33 dB or –50 dBm which ever is higher

3
± 10 MHz
-43 dB or –50 dBm which ever is higher

4.6.2.2.3.
Test purpose

The test purpose is to verify the ability of the UE  to limit the interference produced by the transmitted signal to other UTRA receivers operating at the first or second adjacent RF channel.

4.6.2.2.4.
Method of test
4.6.2.2.4.1.
Initial conditions

(1)  Connect the SS to the UE antenna connector as shown in Figure A.1.

(2)  A call is set up according to the generic call setup procedure using parameters as specified in Table 4.6.2.2.4.1. 
(3)  Enter the MS into loopback test mode and start the loopback test.
See  TS34.109 Terminal Logical Test Interface (FDD/TDD) for details regarding generic call setup procedure and loopback test.

Table 4.6.2.2.4.1. parameters of UE for ACLR test

Parameter
Value/description




Duty Cycle
[1:14]

AFC
on

 Open Loop Power  control


On: SS transmit level such that  UE transmits max power

Data content
real life

(sufficient irregular)

Number of DPCH in each active TS
[1]

4.6.2.2.4.2.
Procedure

(1) Measure the wanted transmitted power of the active timeslot using the method in Annex B

(2) Average over TBD time slots.

(3) Measure interference power at the first lower adjacent RF channel (center frequency 5 MHz below the assigned channel frequency of the transmitted signal) over the useful part of the active TS i   with the useful part starting TBD chips after the guard period of the preceding time slot ends and ending TBD chips before the first data symbol of the following time slot starts, and with a measurement filter that has a RRC filter response with a roll off ( = 0,22 and a bandwidth equal to the chip rate.

(4) Average over TBD time slots.

(5) Calculate the ACLR by

Transmitted power acc. to (2) / interference power acc. to (4). 

(6) Repeat steps (3), (4) and (5) for the second lower adjacent RF channel (center frequency 10 MHz below the assigned channel frequency of the transmitted signal) and also for the first and second upper adjacent RF channel (center frequency 5 MHz and 10 MHz, respectively).

4.6.2.2.5.
Test requirements

The ACLR calculated in steps (5) and (6) of subclause 4.6.2.2.4.2 shall be equal or greater than the limits given in Table 4.6.2.2.2.

